Money Word Problems "

Read each word problem carefully and solve.

Jenny has $6.60, and her sister gives her 3 quarters.
How much money does Jenny have now?

Julia has 3 quarters, 3 nickels, and 2 pennies. How
much money does she have in total?

Robert has 5 quarters and 2 nickels. He bought a
water bottle for $0.75. How much money does he
have now?

Jen has $2.35, and she spends 1 dime and 2 nickels.
How much money does she have now?




Money Word Problems "

Answers

Jenny has $6.60, and her sister gives her 3 quarters.
How much money does Jenny have now?

$7.35

Julia has 3 quarters, 3 nickels, and 2 pennies. How
much money does she have in total?

$0.92

Robert has 5 quarters and 2 nickels. He bought a
water bottle for $0.75. How much money does he
have now?

$0.60

Jen has $2.35, and she spends 1 dime and 2 nickels.
How much money does she have now?

$2.15




